gooooozoos0conogn

R25b Dboboobobboobbboobotooobboobboobbboobboobobd
o00000000000DO0O0DOOO0O0O0O0MOOODOO0O0000000000mMOO000NnO
0000MO0O0000000000

00004m00000000000000000 2CO(J=1-0)00000000000000000

gboobobdoboooooobuobobobobobobobooooooboobobooooooooao
gboboobobobooooboboobobooooboooooobobooboooboboooboboboonbo
gbogbuoobuoobooobooboobooboobooboobobooboobooboobooboo
gbooboobooboobooboobobobooboobobobooboobboboboboboobboobo
googoboooboboooogoobgoboboooooobobobooboboobooboobooboboboboo
goooobooooOooooDboo0ooOogUobobooooob cogooooooooobobboooogooo
gobooboboboooooboboboooboobobooooooboboboobobobobobooooo
gbooooo

gobogbooboobgoobobooboobobobooobooboobooboobooboobDoobbooobo
gboobooboobobbooboobooboob leeboboobooboobouoobooboobon
0000000000000 000Sa0000D0OO0O0 SdO0ODODOOO0ODOOO0OOOO0OooOOoOoooOoOoood
000 SABOSBOOOOOO sAOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO
gooooo

ncooooUooioooOoOoOoO0000OoO0oUo0DooooOoOOoOoODUoOUooooOoODOO

2)0000000000000000000000O000D00O0OOOO0OOO



